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04¢ 7|2l E7tEH of2 A ALY X[ LF209 63,900 3 Helte
05¢ 712l Eotet S AT A Ay 270 7,000 2 Helzte
05 712 Eotot S22 Ay S=0 A& 23| &=Cf 16,000 2 Holte
06 stz S AR A AT X[ EnPNE] 33,000 4 Helte
07¢ Tz Mtz HdXda oz 300,000 - HZLO|H|
09g 7|2l gt U2 E AT X nERE 27,000 3 Hol7te
09g 7|2 Eotet S A2 op2 A D] X[ ¥ et 27t 16,000 2 HolFte
10 enn2 HFHo sHitgore| Ea 38,000 2 Hel7te
10 7|2l E7bEE o2 AlTH X[ ghitstote| 24 37,000 3 Holzte
11 HErMEHEY Q| Of2 AT XA 7| O] ZEtZ 84,000 3 Helte
12¢ e 15etn AFRHO| AlAL Of2|&7t= 112,000 5 Holgte
12¢ 712l Eotet S22 HAAD XY oA ERRX|LE 50,000 4 Helzte
12¢ 7|2 Eotet S A2 opZ2AI] X[ ¥ E7|E7| 18,000 2 Holzt=
13 712l gotet 322 SR X O|C|Of7 I 8,400 2 Helzte
13 7|2l gt U2 R ALY X[ X|OpX 02| 17,000 2 Holte
144 Az AEEol AAL atot2| 45,000 3 Helzte
16 A2 MA WERZ 42,000 3 Holte
17¢ 7|21 E7tEh of2 A ALY X[ SHIE 27,000 3 Helte
18 7|2l E7bE o2 e Alth X[ ghitstote| 24 37,000 3 Holte
19¢ GIITHH| M S Y25 Al X2 gHitgtore[ 2y 103,000 9 Helte
19¢ HIH| 2 M SY2F S50 X & 270 34,000 9 Holzt=
20 GIITHH| 2 S Y25 ALY X| & s aNERE 165,000 15 Helte
21¢ HHXE7| Q] PEEO| AA} sz 55,000 2 Hol7tE
22 A A ACH X[ G 30,000 2 Helte
22 A 7HA X HAEHIL =Y 10,000 2 Holte
22 7|2l oAy XA E7|E7| 92,000 10 Helte
23 WEX ofZAICH x| EI|E7| 70,000 5 Holte
234 7|21 g7tEh of2 A ALY X[ SHIE 47,000 4 Helte
24 HeAY o2 =04 XA GS25=240H 16,500 16 Hol7tE
24 SHAX| Y EQ| OFZAICH X[ EMIIE 76,000 7 Holte
31 oo HEHO 7HA 2L st (@ 7H) 12,600 5 Hel7te
108 31¢ HE e PR AA NSz 205,000 5 Helte




